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QUESTION 1

An elevator has a maximum weight capacity of two tons. What is the greatest number of people, each weighing 170
pounds that can ride in the elevator without exceeding the maximum capacity? 

A. 10 

B. 11 

C. 12 

D. 23 

E. 24 

Correct Answer: D 

 

 

QUESTION 2

A local roofing company gets a 25% discount on all orders made at Roofing Etc. How much did the company pay for
roofing materials originally priced at $780.00? 

A. $195 

B. $585 

C. $634 

D. $780 

E. $975 

Correct Answer: B 

 

 

QUESTION 3

The average customer\\'s bill at Smiley\\'s Dental Care is $50.50. Which one of the following five doctors has the highest
billing charges for the 4-month period shown below? 
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A. Dr. Wisdom 

B. Dr. Molar 

C. Dr. Cap 

D. Dr. Root 

E. Dr. Filling 

Correct Answer: E 

 

 

QUESTION 4

An empty trash container weighs 32 pounds. If this container is filled with a load of trash that weighs 122 pounds, what
is the total weight of the container and its contents? 

A. 3.81 pounds 

B. 90 pounds 

C. 144 pounds 

D. 154 pounds 

E. 3904 pounds 

Correct Answer: D 

 

 

QUESTION 5

The aquarium shown below needs to be filled with water. If the aquarium is filled to the top, how many gallons of water
will it hold? 
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A. 2.13 gallons 

B. 16 gallons 

C. 22 gallons 

D. 3696 gallons 

E. 853,776 gallons 

Correct Answer: A 
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